= O
N & o & AF &2 H Ml A
011ET 20t UBHE|N HBB=AD ~ FBASAD
SN HEEs
MY AHASAAMAN D(SHNHLLL/ =Y - &
ool MBRSYIIBEY (S5l &2
- o HEG
SA BB H(BH) - MBAY - B2 Ofl & o il b o HRs2
e 207,306,025 214,146,012 6,839,987
=2 155,203, 176
3 6,577,000
| 17,500,500
= 28,025,349
NS SABHAR D(SYHLLL /5 - 58) 207,296,325 214,134,812 6,838,487
2 155,203, 176
3 6,577,000
| 17,500,500
= 28,015,649
ST BIIEE Pt 50,406, 745 52,552,345 A2, 145,600
2 35,347,781
3 4,600,000
= 10,458,964
HEASAT XA 450,000 390,000 60,000
=l 300,000
= 150,000
403 RHXISHH SR20|H 450,000 390,000 60,000
3 300,000
= 150,000
01 MXSHRZLE 450,000 390,000 60,000
BEEETEESE 450,000
3 300,000
= 150,000
EYNBRZ2 10,643,000 1,497,008 854,008
2 10,643,000
403 RHXISHSR20IH 10,643,000 1,497,008 £854,008
2 10,643,000
01 WXSHAZEDE 10,643,000 1,497,008 £854,008
mEISTES e 10,643,000
2 10,643,000
SHIHSEXHRR 1,698,815 1,920,887 ~222,072
= 1,306,781
= 392,034
403 RHXISHHSX20IH 1,698,815 1,920,887 ~222,072
= 1,306,781
= 392,034
01 MXSHAZDE 1,698,815 1,920,887 ~222,072
BEFIESEE S Wi piE 1,698,815
=2 1,306,781
= 392,034
BRI T Y 5,530,000 4,140,000 1,390,000
3 4,300,000
= 1,230,000
403 RHXISHHSR20IH 5,530,000 4,140,000 1,390,000
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M MBASUAVARD(SLHYL/5e - 5&
Cel: FsFsIIeEy (EHe &
_ = FSRE =
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
S 1,230,000
01 MXEMA=2EEX 5,530,000 4,140,000 1,390,000
OZedadsgatxd 5,530,000
= 4,300,000
& 1,230,000
FIIZHIZ XA 28,077,700 30,822,400 A2,744,700
= 23,398,000
= 4,679,700
403 A XIEHSXH=01H 28,077,700 30,822,400 A2,744,700
= 23,398,000
= 4,679,700
01 MUHXIEHMA=ZE = 28,077,700 30,822,400 A2,744,700
ORI E8IES XA 28,077,700
= 23,398,000
< 4,679,700
sMdER;X7EY 900,000 1,350,000 450,000
403 NAEHSAH=01H 900,000 1,350,000 450,000
01 MXIEMA=ZE = 900,000 1,350,000 450,000
OsMydE-sA+1xd 900,000
FllsE2EUHRFAZSESE 1,800,000 1,200,000 600,000
403 XXM SA=201H 1,800,000 1,200,000 600,000
01 MUXIEHMA=ZE = 1,800,000 1,200,000 600,000
ORJIslR=ANzZsE8sY 1,800,000
=1 XHBH =0 X & 965,000 1,166,000 A201,000
403 AXIHHSK=01H 965,000 1,166,000 A201,000
01 AXIEMA2EX 965,000 1,166,000 /201,000
Oredsgsald 315,000
O sHR=XSEH s K& 210,000
(XS Z 20l SA LR 240,000
L&A= ElHI &K & 200,000
HHERI I sBHESIIFEE 72,000 0 72,000
403 A XIEHHSXH=01E 72,000 0 72,000
01 TXIEHMAZE = 72,000 0 72,000
DM RIlsgdiasitsd 72,000
HEIdsHEENESXNE 14,000 14,400 A400
308 NHXISHHSOIE 14,000 14,400 A 400
01 HXHHBLEdE2ES 14,000 14,400 A400
O edsgd3=2nEs 14,000
FRE2LSMI|BtEL X 60,000 0 60,000
403 XXM SA=01H 60,000 0 60,000
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SN HEE s
A MRS AMAR D (SHNLSM/ 5 - SE)
Sl AEASASAYISHN (el &2
5 o SIEN
SM-EH . C(BH) - HRAY - B2 O] Ak 4 il b o HRs2
01 XS MBLEEXS 45,360 43,200 2,160
& 82 = 2 0I5H 2l & T K| 248 45,360
AHIANE=E=MUE XN 90,000 60,000 30,000
308 XX SHHSOIA 90,000 60,000 30,000
01 XML EXZ 90,000 60,000 30,000
OAHIRGES =M &K 2 90,000
et se=2 A=A 375,000 360,400 14,600
403 X HMESAH=01H 375,000 360,400 14,600
01 TXISH=EE 375,000 360,400 14,600
DHSPSASEHAZ U 375,000
RS ASAS TR LS BT 90,000 50,000 40,000
307 GI2+0IA 90,000 50,000 40,000
04 RIRFHAIE X 20,000 0 20,000
O stdsgel=ia X 20,000
05 2ItRAE S 70,000 50,000 20,000
ORISR 52425 &I 2 40,000
OtHZ A =822 EX 30,000
MESHH Hol S LA 150,000 0 150,000
403 X SHMSAH=01H 150,000 0 150,000
01 AXIEMA=2EEX 150,000 0 150,000
DX RHS YR 100,000
mhIPES P ER=L EED 50,000
B2 AESFEHIXR 52,500 0 52,500
308 XX HHSO0IA 52,500 0 52,500
01 AXNSMBLNEEXS 52,500 0 52,500
OS8R SHSASETY X 52,500
et sMSAHIEHAIE FA 9,020 24,500 A 15,480
201 LBt 3| 2,500 17,500 A 15,000
01 Attt 2,500 2,500 0
D2ersgt| 1,500
OREF=AYIAGNERL 1,500
O2g+y 1,000
O2MES 1,000
202 O4H| 4,520 5,000 A480
01 =W 4,520 5,000 A 480
ORSHsASAH SUET0) 4,520
301 et asg 2,000 2,000 0
10 ALAHIE &= 2,000 2,000 0
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gﬂ:aégsgggémuuggw%¢éwgg =&)
el MBASASAHERY EER-E
SA-EH O (BH) - HBAY - B2 0] Ak 21 gggf; HRS2
(RS EsISEAXS EHILAZ A 2,000
NEZASFMMASI|EIXY 6,997,194 8,252,140 A 1,254,946
= 2,650,000
= 4,347,194
SOH LA 3,250,000 4,810,000 A 1,560,000
= 2,500,000
= 750,000
403 KXIEMS K201 3,250,000 4,810,000 A 1,560,000
= 2,500,000
= 750,000
01 RIXISHMAZ2E X 3,250,000 4,810,000 A 1,560,000
O HS A 3,250,000
= 2,500,000
== 750,000
ISARSEEIAINEY 186,000 558,000 A 372,000
= 150,000
& 36,000
403 KXIEMS K201 186,000 558,000 A 372,000
= 150,000
& 36,000
01 MXISHX2E=X 186,000 558,000 A 372,000
ONSAMNsEEIIMES 186,000
= 150,000
== 36,000
NEANLLZEK 192,000 192,000 0
403 XHXISHHS 192,000 192,000 0
01 XkXIEHXI Xt 192,000 192,000 0
ONSaM 192,000
HEISEXA 2,137,444 948,180 1,189,264
403 XX SIS K2 2,137,444 948,180 1,189,264
01 XFXIEHX A& 2 2,137,444 948,180 1,189,264
(HEsRZ2&XA 2,137,444
OHERZ2&41X 1,909,000
OHEIA =KX & 228,444
SAESIIHES 800,000 960,000 A 160,000
403 XHXIEHMIS K201 800,000 960,000 A 160,000
01 XAIXIEHMAZ2EE 800,000 960,000 A 160,000
OsA8sIIH=s2 800,000
SR L RS NE=TA 102,900 150,960 N48,060
403 XX SHHSKA=201H 102,900 150,960 N48,060
01 AXEHMA2EE 102,900 150,960 A48,060
O&E2THE =4 102,900




SN HERSAD
i HBFSAABAN D (SEHY /= - =&
SRl DERAYMMASIIBIEY (el &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
DEIIISHETHE KX 126,000 144,000 A 18,000
403 RHEISHH SR 20 126,000 144,000 18,000
01 MXSHRZBE 126,000 144,000 18,000
ODEEI|SEATHHES R Z4 126,000
22U M AR E A 126,000 72,000 54,000
403 RHXISHH SRH20IH 126,000 72,000 54,000
01 MXSHAZDE 126,000 72,000 54,000
R LA E4 126,000
DEIASMMASIBELEN 16,850 17,000 A150
201 Ygreg| 7,000 7,000 0
01 At 2l 7,000 7,000 0
m[ETE=Y] 4,000
OSATHHHB TR M AR 4,000
mEETH 3,000
SN E ESIENN 3,000
202 01t 7,850 8,000 A150
01 =Ujoi | 7,850 8,000 A150
[ 24 TH H O 24 2 71 O b 7,850
301 LPBAI 2,000 2,000 0
10 BAHI 243 2,000 2,000 0
Os&YaSI|#IIKSA 2,000
S| H PR X X A 60,000 0 60,000
403 RHEISHH S K20 60,000 0 60,000
01 MXSHAZSE 60,000 0 60,000
BESIBTE ST 3 ik 60,000
SIASAHED 104,714,591 118,024,792 A13,310,201
= 103,715,395
= 999, 196
A SANTZH 4,885,353 4,936,400 A51,047
= 4,885,353
308 XHXISHH SO & 4,885,353 4,936,400 A51,047
= 4,885,353
01 MXSHAZAHSES 4,885,353 4,936,400 A51,047
mEIEE - ESE DU ] 4,885,353
= 4,885,353
BASSHENFYNEH(X) 91,050,863 103,939,837 A12,888,974
= 91,050,863
308 XHXISHH SO & 91,050,863 103,939,837 ~12,888,974
= 91,050,863




SN AERSAD
M ABASARMAR D (STHL LM/ - 52
el EIlASOEER (el @)
SN -HH - SA(B) - MRAY - BES O &F 24 e HRE2
01 XS MBLEEXS 91,050,863 103,939,837 A 12,888,974
OMASSEHEIFYXSH (XR) 91,050,863
= 91,050,863
BASSSHIUZNEH(NE) 16,000 16,000 0
2 16,000
201 B3| 6,000 6,000 0
= 6,000
01 AtE22(Hl 6,000 6,000 0
(IE==g:] 6,000
OBASSEHNHNSHALZE DA 6,000
= 6,000
202 O4Hl 10,000 10,000 0
= 10,000
01 =Wl 10,000 10,000 0
OMASSEEAFYXSHALER 0 10,000
2 10,000
THEXNSARE X2 H(XIH) 7,611,265 8,630,603 21,019,338
= 6,744,159
& 867,106
308 XX HHSOIA 7,611,265 8,630,603 A 1,019,338
2 6,744, 159
= 867,106
01 AXNEMBLAEEXS 7,611,265 8,630,603 A 1,019,338
OXA=elNSAE X =R 7,611,265
= 6,744,159
= 867, 106
THEXNSEANEXN 2 (YY) 5,000 5,000 0
= 3,500
= 1,500
201 sty 5,000 5,000 0
2 3,500
= 1,500
01 AtE22/Hl 5,000 5,000 0
= &l 5,000
SEECENEEEIEYEEESEW 5,000
= 3,500
= 1,500
AR SRS ESES N E=—=PN 1,146,110 496,952 649, 158
= 1,015,520
= 130,590
308 XX HHSOIA 1,146,110 496,952 649, 158
= 1,015,520
& 130,590
01 IXNSMBLNEES 1,146,110 496,952 649, 158




SN HEE s
A MNHASAMAR D (NSNS - SE)
Ol EIASONER (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 il b o HRs2
OZ 228 AZ X2 1,146,110
= 1,015,520
= 130,590
BASHASSHRRAY 358,800 508,000 £149,200
ASADZSEA 50,000 100,000 A50,000
307 QI2+0IA 50,000 100,000 250,000
04 CIZFSHALE X 50,000 100,000 250,000
O3 SAtUES 2 A 50,000
OsdsJtgddedE D8R 300,000 300,000 0
403 TIXIEHHIS K0l ™ 300,000 300,000 0
01 AXESHMA2E = 300,000 300,000 0
OO=&8sJt8 204X 300,000
s ASSUHAME = 8,800 8,000 800
201 B3| 3,300 3,000 300
01 AtR 22/l 3,300 3,000 300
m[ETE=Y] 3,300
OU+=NASEUBRERHARS 3,300
202 O4dl 5,500 5,000 500
01 =LA bl 5,500 5,000 500
OR4SHASEUENOY) 5,500
FTACHE D= S Z S DALS 20,921,025 21,012,775 291,750
| 15,587,000
& 5,334,025
DED ML LAY 13,258,800 14,945,300 A1,686,500
Il 9,144,000
& 4,114,800
403 XXM SA=01H 13,258,800 14,795,300 A 1,536,500
| 9,144,000
= 4,114,800
01 MHXIEMA=ZEx 13,258,800 14,795,300 A 1,536,500
O=-SEHMAMA LSS ALE 13,258,800
| 9,144,000
= 4,114,800
FTAALL A&l =2 225 X1 (X&) 147,000 0 147,000
Il 147,000
308 MXIHHMSOIA 147,000 0 147,000
| 147,000
01 AXNSEMBLEEXS 147,000 0 147,000
CIFTAAREI I &1 2242 2r2| | XI & 147,000
J| 147,000
FTAALE A&l =2l 2e|H X (2 E) 13,000 13,000 0




SN
X XH .
S Tt

el

SN I SRI(S) - NRAY - B 0fl b Soe B RS2
| 13,000
201 et 3,000 3,000 0
J| 3,000
01 AtER22/Hl 3,000 3,000 0
Oget=gHl 3,000
OFTAXIZ X EHSIMEFE TSRS 3,000
Il 3,000
202 O4Hl 10,000 10,000 0
Il 10,000
01 =Yl 10,000 10,000 0
COFTALt =AM H S HHRF AN I 10,000
| 10,000
A HZHACXD A AL 6,754,225 5,414,775 1,339,450
| 6,283,000
= 471,225
403 XXM SA201H 6,754,225 5,414,775 1,339,450
| 6,283,000
& 471,225
01 AXESMIA2E = 6,754,225 5,414,775 1,339,450
Ot 8 E ALK D] Bt & ALY 6,754,225
Il 6,283,000
= 471,225
FTALHS A E I M E MK 102,000 97,500 4,500
403 KX EMSA=01H 102,000 97,500 4,500
01 AXESMIA2E = 102,000 97,500 4,500
CFTAH S A4 E I H & M X2 102,000
D2 A2 5 R K| 2 480,000 382,200 97,800
403 X HMSAH=01H 480,000 382,200 97,800
01 RXSHMA2E = 480,000 382,200 97,800
NI S =) S g | DR 480,000
FTACHEZ U X 2t == H S 3t AHY 156,000 150,000 6,000
403 KX M SK=01™ 156,000 150,000 6,000
01 XM= E X 156,000 150,000 6,000
CFTAS UM = E S3HALY 156,000
FTAW S == A B HSA T DALE =& 10,000 10,000 0
201 Yereoty| 8,000 8,000 0
01 AtR22/Hl 8,000 8,000 0
Oget=gHl 8,000
OFTALt =M AB AN DN Z RS 8,000
301 LerE A3 2,000 2,000 0
10 ALAHIE &= 2,000 2,000 0
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X XH .
S Tt

el

_ _ SIEN
SN CR(EH) - NRAY - BES 01l &k o e HZ2
O EZXSE IS A 2,000
SHASHASSUX MY 320,500 308,000 12,500
St MAAI LS Z Y SR DX 312,000 300,000 12,000
403 XXM SAH=01H 312,000 300,000 12,000
01 XM= E X 312,000 300,000 12,000
Lot aAI 8 B B K DX 312,000
SN SELULRSANEHS 8,500 8,000 500
201 LetEIH| 3,000 3,000 0
01 AtR22/H] 3,000 3,000 0
O Et==ZH| 3,000
OSEZUAUNARYS 3,000
202 O4dl 5,500 5,000 500
01 WY 5,500 5,000 500
&AL RS NS0 5,500
20 ES A BH=Y 19,771,550 5,883,000 13,888,550
= 13,490,000
Il 1,913,500
< 4,368,050
HHHE=sEHESLEXA 2,509,000 3,536,300 A 1,027,300
Il 1,900,000
& 609,000
403 XXM SA=201H 2,509,000 3,536,300 A 1,027,300
J| 1,900,000
& 609,000
01 AXSHMA2E = 2,509,000 3,536,300 A 1,027,300
OR™x=EdHESANR 2,509,000
Il 1,900,000
= 609,000
AMEZNUXOIEES3 A& 3,237,000 0 3,237,000
= 2,490,000
< 747,000
403 XXM SA=201H 3,237,000 0 3,237,000
= 2,490,000
& 747,000
01 RXESMA2E = 3,237,000 0 3,237,000
OAIZ20 U Z2ZALXE 3,237,000
= 2,490,000
= 747,000
AMERN SHEIHHI E=SX& 1,300,000 0 1,300,000
= 1,000,000
< 300,000
403 XX HSA=201H 1,300,000 0 1,300,000
= 1,000,000




SN AERSAD
MY ABASAAMAR D(SHHL AN/ - &)
CHol: 210 KIS M A D| B SECH (el &
_ _ _ Muo
SN -HH - SA(B) - MRAY - BES O &F 24 Sl ko HRE2
= 300,000
01 RXSHMA2E = 1,300,000 0 1,300,000
OANE2UHSHER LI ESKE 1,300,000
= 1,000,000
= 300,000
ANER0) NSHSAAE 22X 2 11,000,000 0 11,000,000
= 10,000,000
& 1,000,000
403 XX EHH S XH=0| & 11,000,000 0 11,000,000
2 10,000,000
= 1,000,000
01 AXEMI=E =X 11,000,000 0 11,000,000
OANE 20X SHSAAHESKR 11,000,000
= 10,000,000
= 1,000,000
ASHISLENE 1,700,000 2,338,700 A638,700
403 THXISHHIS KH 0| ® 1,700,000 2,338,700 638,700
01 AXEMA=2E =R 1,700,000 2,338,700 A 638,700
OxsH=s4IA 1,500,000
DI A MAD| PSS X 200,000
OIS 2 A A U T AL 2 7 8,000 8,000 0
201 LBt A 3,000 3,000 0
01 AR eIbl 3,000 3,000 0
Oget=gH| 3,000
ORUZESNR RIS 3,000
202 Ot 5,000 5,000 0
01 =LA bl 5,000 5,000 0
D= LSz 5,000
HessHHRS 17,550 0 17,550
| 13,500
& 4,050
403 XXM SA201H 17,550 0 17,550
| 13,500
& 4,050
01 AXEMA=2E =R 17,550 0 17,550
OQEMSHH 7S 17,550
Il 13,500
= 4,050
L - E8H==sd 779,800 851,000 AT1,200
SEFO0l M CHE M AT R 62,000 60,000 2,000
307 QI2t0IA 62,000 60,000 2,000
02 2ItAAE X 62,000 60,000 2,000
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